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" PROBLEM # 1
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~ Calculate the formation compressubmty at p = 5000 psig from the followmg expenmental data Iy
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'PROBLEM # 2 S

A reservorr covers 12,000 acres and is 20 feet thlck “The formatron has initial porosity of 0.25." The
pore volume compressmlllty of the reservoir rock is 3.0 x 10 psi™. Calculate the change in reservoir
pore volume (in barrels) if the reservoir pressure decreases by 2 000 psr (1 acre- ft 7758 barrels)
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" PROBLEM # 3

" 'Use the generalized form of Darcy’s equation to derive the flow equation formm of an

" incompressible liquid in a hemispherical shaped reservoir with a well that bottoms at the center of

’“and T, respectlvely
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the sphere. Neglect the gravnty term (assume dz/ds = 0) Let the radlus of the sphere and well be re
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PROBLEM #4

Show that the flow equatlon for linear flow of an lncompressmle liquid in a dlpplng bed i is

kA [Ap pgsme} where D =1.01325x10°and 8 is the dip angle.
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PROBLEM #5 "
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Show that the flow equatlon for vertical flow of an lncompressmle I|qU|d upward with head, h, is glven
by Eq. 2-24, p.75 of ABW. ;
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